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Examples of a Causation:

Practice Problems: .

For each scatter plot, tell whether the data have a positive correlation, a negative comrelation, or no

correlation. Then, tell whether the correlation is closest to -1, -0.5, 0, 0.5, or 1.
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3. Defermine if the correlation is Positive, negative, or no correlation? Could it be a causation?

a. Amount of exercise and percent of body fat

b. A person's age and the number of medical conditions they have

c. Temperature and number of ice cream cones sold

d. The number of students at Harrison and the number of dogs in Aflanta

e. Age of a fadpole and the length of ifs tail _ ;
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3. Determine if the correlation is Positive, negative, or no comrelation? Could it be a causation?
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